CSE 326 Reading Quiz

Name: ______________________ Score: ____

Friday 7/28/00 – turned into a take-home quiz
1. (2 pts.) Give a topological sort for the following graph:

2. Dijkstra’s algorithm is concerned with (choose one)

finding lowest-cost paths

computing in-degree

determining whether there are cycles

3. If a graph has any negative edge costs, Dijkstra’s algorithm... (pick one)


...works without change and without loss of efficiency


...works with relatively minor changes but less efficiently


...is hopeless

4. T/F To perform calculations concerning an activity-node graph (such as determining its critical path), the graph is first converted into an event-node graph

5. Here is a graph which is an instance of the network flow problem.  Which node is the “sink”?

